Bidders must provide a price for DPW & Parks locations to be cleaned monthly, quarterly and bi-annually. Award will be made in the aggregate total of all locations including the unit price for other locations as needed.

ltem #:	Description:	Unit Price:	<u> </u>	Ext Total
1	20 East Worcester Street Carpeted Areas to be cleaned 12 times per year	\$ 320.00 per cleaning	x 12	\$_3,840.00 annual total
	Carpeted Areas to be cleaned 4 times per year	\$ 250.00 per cleaning	x 4	\$annual total
	Carpeted Areas to be cleaned 2 times per year	\$ 600.00 per cleaning	x 2	\$_1,200.00 annual total
	Total Annual Price – 20 E. Worcester	Street =	\$ 6	,040.00
2	29 Albany Street Carpeted Areas to be cleaned 4 times per year	\$400.00 per cleaning	x 4	\$1,600.00 annual total
	Total Annual Price – 29 Albany	=	\$ 1,	600.00
3	18 East Worcester Street Carpeted Areas to be cleaned 4 times per year Carpeted Areas to be cleaned 2 times per year	\$ 400.00 per cleaning \$ 250.00 per cleaning	x 4 x 2	\$
	Total Annual Price – 18 E. Worcester	r Street =	\$	2,100.00

BEST Pro Cleaning

<u>Item #:</u>	Description:	Unit Price:	Ext Total
4	Various City Department Locations:		
	Price per Square Foot for other City locati Estimated annual square footage = 4,000 Estimate for bidding purposes only	0.35 \$ Per S.F.	_ x 4,000 = \$annual total

*award to be based on this amount

Best Pro Cleaning

Bidders must provide a price for DPW & Parks locations to be cleaned monthly, quarterly and bi-annually. Award will be made in the aggregate total of all locations including the unit price for other locations as needed.

Item #:	Description:	Unit Price:	Eve Takal
1	20 East Worcester Street	J. 1106.	Ext Total
	Carpeted Areas to be cleaned 12 times per year	\$ 750.00 x per cleaning	12 \$ 9,000.00 annual total
	Carpeted Areas to be cleaned 4 times per year	\$ 1,020.00 x	4 \$ 4,080.00 annual total
	Carpeted Areas to be cleaned 2 times per year	\$ 330,00 x per cleaning	_
	Total Annual Price - 20 E. Worceste	er Street = \$	13,740.00
		-	_
2	29 Albany Street Carpeted Areas to be cleaned 4 times per year	\$ 440.00 x 4 per cleaning	\$ 1,760.00 annual total
	Total Annual Price - 29 Albany	= \$	1760.00
3	18 East Worcester Street		
	Carpeted Areas to be cleaned 4 times per year	\$ 600.00 X2 per cleaning	\$ 1,200,00 annual total
	Carpeted Areas to be cleaned 2 times per year	\$ 330.00 x 2 per cleaning	\$ 660.00 annual total
	Total Annual Price - 18 E. Worcester	Street = \$ 1	1,860.00
Com	ass facility Services		

Item #:	Description:	Unit Price:	Ext Total

4 Various City Department Locations:

Price per Square Foot for other City locations Estimated annual square footage = 4,000 Estimate for bidding purposes only

\$ 0.15 x 4,000 = \$ 600.00 Per S.F. annual total

TOTAL ANNUAL PRICE ALL ITEMS (1-4) =

*award to be based on this amount

Compass Facility Services

Bidders must provide a price for DPW & Parks locations to be cleaned monthly, quarterly and bi-annually. Award will be made in the aggregate total of all locations including the unit price for other locations as needed.

Item #:	Description:	Unit Price:		Ext Total
1	20 East Worcester Street Carpeted Areas to be cleaned 12 times per year	\$_1190.00 per cleaning	x 12	\$ 14,280.00 annual total
	Carpeted Areas to be cleaned 4 times per year	\$_340 per cleaning	x 4	\$_1360.00 annual total
	Carpeted Areas to be cleaned 2 times per year	\$ 3570.00 per cleaning	x 2	\$ 7140.00 annual total
	Total Annual Price – 20 E. Worcester	Street =	\$ 22	780.00
2	29 Albany Street Carpeted Areas to be cleaned 4 times per year	\$_544.00 per cleaning	x 4	\$ <u>2176.00</u> annual total
	Total Annual Price – 29 Albany	=	\$ 2	176.00
3	18 East Worcester Street			
	Carpeted Areas to be cleaned 4 times per year	\$ 1190.00 per cleaning	x 4	\$ 4760.00 annual total
	Carpeted Areas to be cleaned 2 times per year	\$_510.00 per cleaning	x 2	\$_1020.00 annual total
	Total Annual Price – 18 E. Worcester	Street =	\$ 57	780.00

Sole Source Gast

Item #:	Description:	Unit Price:	Ext Total
4	Various City Department Locations:		
	Price per Square Foot for other City location Estimated annual square footage = 4,000	ons	
	Estimate for bidding purposes only	\$0.34 Per S.F.	_ x 4,000 = \$_1360.00 annual total

TOTAL ANNUAL PRICE ALL ITEMS (1-4) =\$ 32,096.00

Sulc Source Consy.

^{*}award to be based on this amount

Bidders must provide a price for DPW & Parks locations to be cleaned monthly, quarterly and bi-annually. Award will be made in the aggregate total of all locations including the unit price for other locations as needed.

Item #:	Description:	Unit Price:		Ext Total
1	20 East Worcester Street Carpeted Areas to be cleaned 12 times per year	\$ 900 per cleaning	x 12	\$ 10,800 annual total
	Carpeted Areas to be cleaned 4 times per year	\$_300 per cleaning	x 4	\$_/,∂OO annual total
	Carpeted Areas to be cleaned 2 times per year	\$_2,600 per cleaning	x 2	\$ 5,800 annual total
	Total Annual Price – 20 E. Worcester	Street =	\$ /	7,200
2	29 Albany Street Carpeted Areas to be cleaned 4 times per year	\$ <u>400</u> per cleaning	x 4	\$
	Total Annual Price – 29 Albany	=	\$], 6	500
	24			
3	18 East Worcester Street			
	Carpeted Areas to be cleaned 4 times per year	\$per cleaning	x 4	\$_4,000 annual total
	Carpeted Areas to be cleaned 2 times per year	\$_250 per cleaning	x 2	\$_500 annual total
	Total Annual Price – 18 E. Worcester	Street =	\$ 4,	500

DRL Carpet

Item #:	Description:	Unit Price:	Ext Tota
		Ollici IIOO.	-ALIVW

4 Various City Department Locations:

TOTAL ANNUAL PRICE ALL ITEMS $(1-4) = \frac{34,300}{}$ *

*award to be based on this amount

DRL Carpet

Bidders must provide a price for DPW & Parks locations to be cleaned monthly, quarterly and bi-annually. Award will be made in the aggregate total of all locations including the unit price for other locations as needed.

ltem #:	Description:	Unit Price:	<u> </u>	Ext Total
1	20 East Worcester Street Carpeted Areas to be cleaned 12 times per year	\$ 1327.50 per cleaning	x 12	\$_15 930 annual total
	Carpeted Areas to be cleaned 4 times per year	\$ <u>3</u> ত্ত্ত্ত্ত্ত্ত্ত্ত্ত্ত্ত্ত্ত্ত্ত্ত্ত্ত্	x 4	\$ 1400 annual total
	Carpeted Areas to be cleaned 2 times per year	\$_2 8૦೩ ૬૦ per cleaning	x 2	\$ <u>১৯০১</u> annual total
	Total Annual Price – 20 E. Worceste	er Street =	\$ 2	2, 935
2	29 Albany Street Carpeted Areas to be cleaned 4 times per year	\$472 per cleaning	x 4	\$2360 annual total
	Total Annual Price – 29 Albany	=	\$ 4	2360
3	18 East Worcester Street			
	Carpeted Areas to be cleaned 4 times per year	\$59 per cleaning	x 4	\$
	Carpeted Areas to be cleaned 2 times per year	\$ <u>88≤</u> per cleaning	x 2	\$ 1770 annual total
	Total Annual Price – 18 E. Worceste	er Street =	\$	1130

Nanas Service

Item #: **Description:** Unit Price: **Ext Total Various City Department Locations:** 4 Price per Square Foot for other City locations Estimated annual square footage = 4,000 Estimate for bidding purposes only \$ 0.296 x 4,000 = \$ 1180 Per S.F.

TOTAL ANNUAL PRICE ALL ITEMS (1 - 4) = \$ 30,605.00

Nana's Scrice

annual total

^{*}award to be based on this amount

Bidders must provide a price for DPW & Parks locations to be cleaned monthly, quarterly and bi-annually. Award will be made in the aggregate total of all locations including the unit price for other locations as needed.

Item #:	Description:	Unit Price:		Ext Total
1	20 East Worcester Street Carpeted Areas to be cleaned 12 times per year	\$ 1,540 per cleaning	x 12	\$_18,480 annual total
	Carpeted Areas to be cleaned 4 times per year	\$ 500 per cleaning	x 4	\$ 2,000 annual total
	Carpeted Areas to be cleaned 2 times per year	\$ 3,500 per cleaning	x 2	\$_7,000 annual total
	Total Annual Price – 20 E. Worceste	er Street =	\$ 27	7480
2	29 Albany Street Carpeted Areas to be cleaned 4 times per year	\$ 1,200 per cleaning	x 4	\$_4,800 annual total
	Total Annual Price – 29 Albany	=	\$	4,800
3	18 East Worcester Street			
	Carpeted Areas to be cleaned 4 times per year	\$ 2,622.50 per cleaning	x 4	\$ 10,490 annual total
	Carpeted Areas to be cleaned 2 times per year	\$ 877,50 per cleaning	x 2	\$ 1,755 annual total
	Total Annual Price – 18 E. Worceste	er Street =	\$ 1	2,245

Item #: Description: Unit Price: Ext Total

4 Various City Department Locations:

Price per Square Foot for other City locations Estimated annual square footage = 4,000 Estimate for bidding purposes only

\$ 0,70 x 4,000 = \$ 2,800 Per S.F. annual total

TOTAL ANNUAL PRICE ALL ITEMS (1-4) = \$47,325*

Glabal Cleany Services

^{*}award to be based on this amount

Bidders must provide a price for DPW & Parks locations to be cleaned monthly, quarterly and bi-annually. Award will be made in the aggregate total of all locations including the unit price for other locations as needed.

Item #:	Description:	Unit Price:	Ext Total
1	20 East Worcester Street Carpeted Areas to be cleaned 12 times per year	\$_1000 per cleaning	k 12 \$ 12,000 annual total
	Carpeted Areas to be cleaned 4 times per year	\$	4 \$ <u>2./800</u> annual total
	Carpeted Areas to be cleaned 2 times per year	\$ 3,500 x	2 \$ \\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\
	Total Annual Price – 20 E. Worceste	r Street = 5	21,800
2	29 Albany Street Carpeted Areas to be cleaned 4 times per year	\$ 1,280 per cleaning	4 \$ 5,120 annual total
	Total Annual Price – 29 Albany	= \$	5/120
3	18 East Worcester Street		
	Carpeted Areas to be cleaned 4 times per year	\$ooox4 per cleaning	\$ 0,000 annual total
	Carpeted Areas to be cleaned 2 times per year	\$ 1450 x2	s 2 900 annual total
	Total Annual Price – 18 E. Worceste	r Street = \$	10,900

Carpet Rawletibe Corp

ltem #:	Description:	Unit Price:	Ext Total
4	Various City Department Locations:		
	Price per Square Foot for other City locati Estimated annual square footage = 4,000 Estimate for bidding purposes only	ons \$ Per S.F.	x 4,000 = \$ 3,000 annual total

TOTAL ANNUAL PRICE ALL ITEMS $(1-4) = \frac{37}{820}$ *

*award to be based on this amount

Carper Revolution Corp.